
 Fall 2003

Econ 466

Midterm Examination 1
Total points: 100 

Time: 1 hour and 15 minutes

Name (print)  ___________________________
SS#  __________________



Answer all questions. Write clearly and legibly. Good Luck!!
1. You are planning to run the regression 
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a. (10 points) Estimate 
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, that is, the intercept and the slope coefficient. 

b. (3+3+2 points) Compute SSE, SSR and R2. 

c. (8 points) Calculate the estimated variance and standard error of 
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d. (5 points) Test the hypothesis that 
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at the 5% level of significance.

e. (4+5+4 points) If you run the regression 
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, what will be your estimate of the intercept and its estimated variance?  What is the value of R2? (Hint: Assume that E(u) = 0 and V(u) = 
[image: image7.wmf]2

s

) 
2. A regression of cumulative GPA on math and verbal SAT scores from a sample of 40 students yield the following (standard errors are in parentheses):
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where V is verbal and M is math SAT. 

(i) (2+2 points) How would you interpret the slope coefficients in this equation?

(ii) (2+2+2+3 points) Are the coefficients significantly different from zero? At what significance level could you reject the claim that verbal SAT has no impact on grades?

(iii) (5 points) What is the 99% confidence interval for the effect of math SAT on grades?

(iv) (5 points) Find the p value of the test 
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is the coefficient of M.

(v) (6 points) Suppose that both verbal and math scores are divided by 100. How would this change the estimated regression? Explain.

(vi) (5 points) What grade would you predict for someone who scored 500 on both SAT tests? Why might this person’s actual grade deviate from the grade predicted by the model?

3.
(i) Consider the following two-variable regression models:

Model I:
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Model II: 
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Show that 

(i) (3 points) 
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(ii) (5 points) 
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(ii) For the regression 
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(a)   (2+3 points) 
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(b)
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(c)  (3 points) 
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